Townhouse in Senglea



Reference No: 240061007-6105

Senglea, South



€740,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): 320

Bedrooms: 3

Townhouse - For Sale - Senglea

Senglea - A Townhouse situated in the village core. Walking distance from the church and the seafront. Once converted the property has lots of potentials, apart from being a residential home due to its location and size it could also be converted into commercial premises. It must be seen to be fully appreciated.

Features

Ceramic Floor

Terrace

Yard

Balcony

Rooms

Kitchen/Dining: 6.4 x 3.51 m (22.46 m2)

Living: 3.78 x 4.27 m (16.14 m2)

✓ Double Bedroom : 2.5 x 3.97 m (9.93 m2)

Double Bedroom : 6.27 x 4.74 m (29.72 m2)

Double Bedroom : 2.87 x 3.97 m (11.39 m2)

✓ Hallway: 7.62 x 6.24 m (47.55 m2)

✓ Bathroom : 2.41 x 2.92 m (7.04 m2)

Guest Toilet: 1.15 x 1.17 m (1.35 m2)

Gallery





























RE/MAX Superior - Fgura RE/MAX Superior - Fgura

M: 23910000

E: fgr@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta